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Note :  Answers may be written either in English or in Hindi: but the same medium should be

used throughout the paper.
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Attempt any five questions.

All questions carry equal marks.

frdl e T & SW St
Wt T & FF wHE €
I, (a) Define production possibility curve (PPC). Explain the concept of choice. scarcity and

opportunity cost using this curve.

(b) How will economic growth affect the PPC ? 10,5
P.T.O.
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(9) e fawm IART ToET o # Hha yufad T € 2
(a) Distinguish between change in demand and change in quantity demanded.

(h)  Suppose the demand and supply function of a commodity X is as follows :

Qp = 140 - 2P
Qg = 20 - 4P.
Complete the following table and find the equilibrium price and equilibrium quantity :
Price of X (Rs.) Quantity Demanded Quantity Supplie(i
5
10
15
20
25 7.8

(3 A T AT # ufedd @ A K Aen § ufedd @ dg s ww
Fhifora |
(%) WM wfife X a%g & fou @ 3 ff wem frafafen § .
Qp = 140 - 2P

Qg = 20 - 4P
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(@) Define price elasticity of demand. Explain the point and arc methods of measuring it.

How do the two methods differ from each other ?

(h) At income of Rs. 100. a consumer demands 10 units of the commodity-X. When his
income increases to Rs. 200 his demand of commodity X becomes 8 units. Calculate

the income elasticity of demand and identify the nature of product. 8.7

(37) WM ® FHG T B GRWE SifTC 3§ 9od #oAm 9 fag fafuEi
F guzmsw oFl fafudl @ g | & = § 2

(F) 100 YA 3T W TF I X T HI 10 THEEA FI AT FEA S| TS IHHI
A g F 200 T A S T A X T A 8 ThEA A S g1 oHw
F A A" T HIGC 9A T B YHA H G|

P.T.O.
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(u)  Explain the consumer’s equilibrium with the help of indifference curve approach using -

suitable diagram.

(h)  Derive the demand curve using this approach. - ‘ 8.7

() 3ad o &1 I7A e sEfuIA o foversw g Ui He @l
U | |

(@) 30 Foawdmm @ IEM ¥ W 9w e w

(a) Deﬁne law of variable proportions using appropriate diagram.

() What are the properties of an Iso-quant ? 87
() 3fad o g fafayw squal & fam & afafis Fifsa)

() & H9-3AE 9% &t fouead &1 § 2

(a) Using the following cost schedule of a firm. calculate the TFC, TVC. AFC, AVC. AC

and MC :
Output (Q) Total Cost (TC)
0 20
1 40
2 58
3 72
4 82
5 90
6 108
7 128
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(h) Derive the long run average cost curves (LAC) from short run average cost

curve (SACS). 8.7

(31) & w1 & Tafafed are afes & g % TFC, TVC. AFC. AVC.
AC 3R MC 3 Hifsu .

34T (Q) FHA TN (TC)
0 20
1 40
2 58
3 72
4 82
5 90
6 108
7 128

(F) FYFTA 3FHd T Tt (SACS) T Sefhreli sia v 9% (LAC) &1
I HITT |

(a) Explain the short run equilibrium of a perfectly competitive firm.

(b) Derive the long run supply curve (LRS) of an increasing cost competitive

industry. 8.7
() & T FE W F sTeuEe Uqed # angE
() T st aFm g $9m & S O o (LRs) @1 fmin @i

P.T.O.
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« 6 )
Write short notes on any nro of the following :
(a)  Law of diminishing utility
(h) Relationship between AC and MC
(¢)  Fixing price ceiling
(d) - Deadweight loss.
Frofefen # @ frd & W Gfem ool fafed
(31) =t & St & Fm
(F) AC I MC & o9 F=y
(|) Afupay wiga fafo
(%) afd IR =

J
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